

City of Santa Rosa Project Bid Summary

CITY HALL CAMPUS

Project Name: SIDEWALK RECONSTRUCTION Contract No.: C02146

PHASE 1

Client: CITY OF SANTA ROSA

Project No.: C02146

Bid Opening: 11/12/2019 2:00 PM

Owner:

City of Santa Rosa

Rank	Vendor Number	Business Name	Total Bid Amount	Percent Over Low Bid	Percent Over/Under Estimate
		Engineers Estimate	\$336,327.00		·
1	V006950	FBD VANGUARD CONSTRUCTION	\$337,426.00	0.00%	0.33% OVER ESTIMATE
2	V002076	GHILOTTI BROS, INC	\$357,921.75	6.07%	6.42% OVER ESTIMATE
3	V002746	OAK GROVE CONSTRUCTION CO., INC.	\$399,094.00	18.28%	18.66% OVER ESTIMATE
4	N/A	M3 INTEGRATED SERVICES, INC.	\$410,201.00	21.57%	21.96% OVER ESTIMATE



City of Santa Rosa Project Bid Abstract

Contract No.: C02146

CITY HALL CAMPUS
Project Name: SIDEWALK
RECONSTRUCTION PHASE 1
Client: CITY OF SANTA ROSA
Bid Opening: 11/12/2019 2:00 PM

Project No.: C02146
Owner: City of Santa Rosa

	,	Project: C02146 - CITY HALL CAMPUS SIDEWALK RECONSTRUCTION PHASE 1			Engineers Estimate		FBD VANGUARD CONSTRUCTION		GHILOTTI BROS, INC		OAK GROVE CONSTRUCTION CO., INC.	
Line No.								Total Price				Total Price
1		TEMPORARY TRAFFIC CONTROL WATER POLLUTION CONTROL	LS LS	1	\$23,000.00					\$35,350.00		<u> </u>
2		REMOVE TREE AND TREE WELL	EA	5	\$8,000.00 \$750.00	\$8,000.00 \$3,750.00		\$2,566.00 \$9,150.00		\$2,500.00		\$11,140.00
	9990. 04284	REMOVE PEDESTRIAN BENCH	EA	1	\$300.00	\$300.00				\$950.00	\$991.00	
5	150765	REMOVE SIGN POST	EA	1	\$200.00	\$200.00	\$58.00	\$58.00	\$50.00	\$50.00	\$991.00	\$991.00
6	153210	REMOVE CONCRETE	SF	8920	\$4.25	\$37,910.00	\$8.00	\$71,360.00	\$4.25	\$37,910.00	\$3.55	\$31,666.00
	9990. 04656	REMOVE HOT MIX ASPHALT PAVEMENT	SF	1320	\$5.00	\$6,600.00	\$7.00	\$9,240.00	\$10.50	\$13,860.00	\$5.05	\$6,666.00
8	153215	REMOVE CONCRETE RETAINING CURB	LF	222	\$20.00	\$4,440.00	\$19.00	\$4,218.00	\$8.25	\$1,831.50	\$15.50	\$3,441.00
9	152255	RESET/ADJUST SURFACE UTILITY/VAULT/FRAME/LID TO FINISHED GRADE	EA	11	\$450.00	\$4,950.00	\$275.00	\$3,025.00	\$260.00	\$2,860.00	\$977.00	\$10,747.00
10	9990. 04705	BLOCKOUT AND PATCH EXISTING AT&T, PG&E AND COMCAST VAULTS, BOXES AND LIDS	EA	7	\$500.00	\$3,500.00	\$926.00	\$6,482.00	\$379.00	\$2,653.00	\$1,390.00	\$9,730.00
		REMOVE AND INSTALL TRAFFIC SIGNAL PULLBOX AND LID TO FINISHED GRADE	EA	3	\$800.00	\$2,400.00	\$303.00	\$909.00	\$300.00	\$900.00	\$1,325.00	\$3,975.00
	9990. 04870	REINSTALL SALVAGED TRASH RECEPTACLES	LS	1	\$1,250.00	\$1,250.00	\$1,053.00	\$1,053.00	\$1,500.00	\$1,500.00	\$1,750.00	\$1,750.00
13	9990. 04291	REINSTALL SALVAGED BIKE RACK LOOP	EA	1	\$900.00	\$900.00	\$1,086.00	\$1,086.00	\$779.00	\$779.00	\$1,750.00	\$1,750.00
	9990. 05207	INSTALL (N) 3'X4' ADA COMPLIANT GRATE	EA	3	\$800.00	\$2,400.00	\$1,216.00	\$3,648.00	\$1,300.00	\$3,900.00	\$2,220.00	\$6,660.00
	9990. 05208	APPLY MULCH GROUND COVER	SY	284	\$15.00	\$4,260.00	\$45.00	\$12,780.00	\$11.00	\$3,124.00	\$9.75	\$2,769.00
	9990. 05209	4" HMA	TON	35	\$400.00	\$14,000.00	\$990.00	\$34,650.00	\$410.25	\$14,358.75	\$467.00	\$16,345.00
	9990. 05210	INSTALL SALVAGED SIGN ON NEW POST AND FOUNDATION PER CITY STD 701	EA	4	\$750.00	\$3,000.00	\$586.00	\$2,344.00	\$200.00	\$800.00	\$639.00	\$2,556.00
	9990. 05211	INSTALL CURB AND GUTTER PER CITY STD 241	LF	290	\$60.00	\$17,400.00	\$50.00	\$14,500.00	\$64.50	\$18,705.00	\$73.00	\$21,170.00
	9990. 05213	INSTALL CONCRETE SIDEWALK PER CITY STD 230	SF	5330	\$20.00	\$106,600.00	\$6.00	\$31,980.00	\$20.75	\$110,597.50	\$17.20	\$91,676.00
	9990. 05214	INSTALL CURB RETURN DRIVEWAY (ALTERNATE B) PER CITY STD 250D	SF	790	\$30.00	\$23,700.00	\$20.00	\$15,800.00	\$34.00	\$26,860.00	\$23.10	\$18,249.00
	9990. 05215	INSTALL CONCRETE BUS PAD PER CITY STD 222	SF	162	\$35.00	\$5,670.00	\$25.00	\$4,050.00	\$88.00	\$14,256.00	\$52.50	\$8,505.00
	9990. 05217	INSTALL (N) PEDESTRIAN CURB RAMP	EA	6	\$5,500.00	\$33,000.00	\$6,000.00	\$36,000.00	\$5,700.00	\$34,200.00	\$6,880.00	\$41,280.00

23	9990. 05218	INSTALL TYPE A1 CURB	LF	246	\$65.00	\$15,990.00	\$40.00	\$9,840.00	\$52.00	\$12,792.00	\$67.50	\$16,605.00
24	9990. 05219	INSTALL CROSS WALK WITH 12" WIDE BASIC WHITE STRIPES	SF	491	\$12.00	\$5,892.00	\$14.00	\$6,874.00	\$5.00	\$2,455.00	\$15.00	\$7,365.00
25	9990. 05224	INSTALL 24" CONTINENTAL CROSS WALK, 10' WIDE	SF	460	\$13.00	\$5,980.00	\$14.00	\$6,440.00	\$5.00	\$2,300.00	\$12.50	\$5,750.00

	Project: C02146 - CITY HALL CAMPUS SIDEWALK RECONSTRUCTION PHASE 1						FBD VANGUA		GHILOTTI BROS, INC		OAK GROVE C CO., INC.	ONSTRUCTION
Line No.	Line No. Item		Units	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
26	9990. 05222	INSTALL BIKE LANE	LF	38	\$12.50	\$475.00	\$7.00	\$266.00	\$5.00	\$190.00	\$41.50	\$1,577.00
27	9990. 05225	INSTALL TYPE 1 ARROW	SF	28	\$20.00	\$560.00	\$14.00	\$392.00	\$5.00	\$140.00	\$75.00	\$2,100.00
28	9990. 05226	INSTALL NO PASSING ZONES - TWO DIRECTION TRAFFIC STRIPES	LF	10	\$20.00	\$200.00	\$12.00	\$120.00	\$10.00	\$100.00	\$107.00	\$1,070.00
	Totals for Project C02146					\$336,327.00		\$337,426.00		\$357,921.75		\$399,094.00
	% of Estimate for Project C02146							0.33%		6.42%		18.66%

	Project: C02146 - CITY HALL CAMPUS SIDEWALK RECONSTRUCTION PHASE 1				Engineers Es	stimate	M3 INTEGRATED SEI	RVICES, INC.	
Line No.	o. Item	Ur	nits	Quantity	Unit Price	Total Price	Unit Price	Total Price	
1	120100 TEMPORARY TRAFFIC CONTROL	LS	S	1	\$23,000.00	\$23,000.00	\$35,000.00	\$35,000.00	
2	074020 WATER POLLUTION CONTROL	LS	S	1	\$8,000.00	\$8,000.00	\$12,000.00	\$12,000.00	
3	160120 REMOVE TREE AND TREE WELL	EA	A	5	\$750.00	\$3,750.00	\$1,000.00	\$5,000.00	
4	9990. 04284 REMOVE PEDESTRIAN BENCH	EA	A	1	\$300.00	\$300.00	\$900.00	\$900.00	
5	150765 REMOVE SIGN POST	EA	A	1	\$200.00	\$200.00	\$900.00	\$900.00	
6	153210 REMOVE CONCRETE	SF	F	8920	\$4.25	\$37,910.00	\$5.00	\$44,600.00	
7	9990. 04656 REMOVE HOT MIX ASPHALT PAVEMENT	SF	F	1320	\$5.00	\$6,600.00	\$18.00	\$23,760.00	
8	153215 REMOVE CONCRETE RETAINING CURB	LF	=	222	\$20.00	\$4,440.00	\$18.00	\$3,996.00	
9	152255 RESET/ADJUST SURFACE UTILITY/VAULT/FRAME/LID TO FINISHED GRADE	EA	A	11	\$450.00	\$4,950.00	\$700.00	\$7,700.00	
10	9990. 04705 BLOCKOUT AND PATCH EXISTING AT&T, PG&E AND COMCAST VAULTS, BOXES AND LIDS	EA	A	7	\$500.00	\$3,500.00	\$1,500.00	\$10,500.00	
11	152400 REMOVE AND INSTALL TRAFFIC SIGNAL PULLBOX AND LID TO FINISHED GRADE	EA	A	3	\$800.00	\$2,400.00	\$1,500.00	\$4,500.00	
12	9990. 04870 REINSTALL SALVAGED TRASH RECEPTACLES	LS	S	1	\$1,250.00	\$1,250.00	\$1,200.00	\$1,200.00	
13	9990. 04291 REINSTALL SALVAGED BIKE RACK LOOP	EA	A	1	\$900.00	\$900.00	\$900.00	\$900.00	
14	9990. 05207 INSTALL (N) 3'X4' ADA COMPLIANT GRATE	EA	A	3	\$800.00	\$2,400.00	\$2,300.00	\$6,900.00	
15	9990. 05208 APPLY MULCH GROUND COVER	SY	Y	284	\$15.00	\$4,260.00	\$40.00	\$11,360.00	
16	9990. 05209 4" HMA	тс	ON	35	\$400.00	\$14,000.00	\$600.00	\$21,000.00	
17	9990. 05210 INSTALL SALVAGED SIGN ON NEW POST AND FOUNDATION PER CITY STD 701	EA	A	4	\$750.00	\$3,000.00	\$375.00	\$1,500.00	
18	9990. 05211 INSTALL CURB AND GUTTER PER CITY STD 241	LF	F	290	\$60.00	\$17,400.00	\$95.00	\$27,550.00	
19	9990. 05213 INSTALL CONCRETE SIDEWALK PER CITY STD 230	SF	F	5330	\$20.00	\$106,600.00	\$19.00	\$101,270.00	
20	9990. 05214 INSTALL CURB RETURN DRIVEWAY (ALTERNATE B) PER CITY STD 250D	SF	F	790	\$30.00	\$23,700.00	\$26.00	\$20,540.00	
21	9990. 05215 INSTALL CONCRETE BUS PAD PER CITY STD 222	SF	F	162	\$35.00	\$5,670.00	\$75.00	\$12,150.00	
22	9990. 05217 INSTALL (N) PEDESTRIAN CURB RAMP	EA	A	6	\$5,500.00	\$33,000.00	\$5,000.00	\$30,000.00	
23	9990. 05218 INSTALL TYPE A1 CURB	LF	F	246	\$65.00	\$15,990.00	\$80.00	\$19,680.00	
24	9990. 05219 INSTALL CROSS WALK WITH 12" WIDE BASIC WHITE STRIPES	SF	F	491	\$12.00	\$5,892.00	\$7.00	\$3,437.00	
25	9990. 05224 INSTALL 24" CONTINENTAL CROSS WALK, 10' WIDE	SF	F	460	\$13.00	\$5,980.00	\$5.00	\$2,300.00	
26	9990. 05222 INSTALL BIKE LANE	LF	F	38	\$12.50	\$475.00	\$15.00	\$570.00	
27	9990. 05225 INSTALL TYPE 1 ARROW	SF	F ·	28	\$20.00	\$560.00	\$26.00	\$728.00	
28	9990. 05226 INSTALL NO PASSING ZONES - TWO DIRECTION TRAFFIC STRIPES	LF	F	10	\$20.00	\$200.00	\$26.00	\$260.00	
	Totals for Project C02146					\$336,327.00		\$410,201,00	
	% of Estimate for Project C02146					, , , , , , , ,		21.96%	